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General Instructions :
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(i)
(1%)
(1iL)

i)

(1)

(vi)

There are 26 questions in ell
All questions are compulsory.
Marks of each question are indicated againsat it

Questions number I to 10 are very short answer guestions
carryving 1 mark each, Answer to each of these questions showld
not exceed 20 words,

Quesiions number 11 [v 20 are shorl answer gueslions carrying
3 marks each. Answer to each of these questions should not exceed
88 words.

Questions number 21 to 25 are long answer guestions carrving
5 marke each. Answer to ecch of these guestions should not exceed
I50 words.



fvit) Question number 26 is related to identification or locating and
labelling of geographical features on maps.

(viti) Quiline maps of the World and India provided o you must be
aflached within your answer-book.

fix) Use of templates or stencils for drawing outline maps iz
allowed.

1. ‘T=den fe T= i T S 1
Define the term Topulation growth’

2, Hom # wed s Bmosqee A 2w w0 An s | :

Name the country having the highest sex ratio in the world.

3. ‘T T= & 9 ST 1

Define the term “Touriam’.

4, wnd Frmwerd & #F © Fe dfEe 11

(Give any two examples of quarternary activities,

6. 2001 F WEWE & HgUT wng § wwge @ uae e § 7 1
Whatl is the density of population of India according Lo 2001 census ?

8. uE & oW U ¥ A W@ & A SO F WeTe Ted SH R 7 1

Which state of India has the lowest percenlage of populaiion below
poverty line 7 .

7. 3E WO & Sw o 7@ T % A 99E | ?ézl
Name any two metropolitan cities of Andhra Pradesh.
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10.

11.

12,

14.

14.

B4/

yd-ofyem nfaEl = g afan AR slaer @ 7 1

Which is the eastern terminal city of East-West Corvidaor 7

Lot B O o B e | el 1 e e B e T 1 1

Name the railway line ihal was consiructed between Hoha in
Maharashtra and Mangalore in Karnataka.

oY G & S Ic9E A @ Al oA AaEn |

B [

Name any Lwo diseases thal are caused by air pollution.

‘o P S U S | AR g TER FWEAT § W SS W OAEE T
fofim difas @ & ae & 98 2EEn | 1+2=3

Define ‘Human Geography. Give four examples of elements of
material culture created by humanes, using the resources provided by
nature,

e T % Feant 29rm & T 94 EeieaE ) me FifEg Gx1=3

Explain any three features of ‘Welfare approach’ to ‘Human
Development”,

FET | 1+2=3

How do sccondary aclivities add (o natural resources 7 Explain with
three examples.

AN T O T £ 7 90§ 9EM = AR 9WRi # I S | 1+2=3

Why do people migrate 7 Slale the [our slreams of migration in
India.
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Study the map of India given below and answer the questions that
follow :
R T e PE ™ N
_W mr

ARARIA .-'~.'

INDIA
METROPOLITAN CITIES, 2001

17

SKA
- 15"
=12
I“..'F. -, -pq-.u
B ok ANCAN AN & HECOEAR ISLANDS
LAKSIAIREFR ko]
MO %
. 1 00 dno E0O km -,‘1 N
IWEAN FLEAN .,
° e T o 3
I | 1 |
i15.1} How many metropolitan citics arc there in Maharashtra 7
(15.2}) 'Which one of them is the largest metropolitan city 7
(15.3) Name the easternmost metropolitan city of India as shown in

the map.



Ttz el ve e ofEwtT qOemiar & 5 vvE Gew 15 % oE 9 E

Note : The following guestion is for the Blind Candidates only, in licu of
. No 15:
wim B T 5w S R e e B osmem S g Ix1=3

Explain the evolution of towns in India in any three points,

16, Y-t W Age 3w o+ fou afuw g, T et s oW i g0
FIE @ UG Ok SR T ®AA & g i | B 1=2
“Land resource 15 more crucial to the livelihood of the people depending
on agriculture.,” Support this statement with any three suitable
arguments.

17, urm & oy s A, 2002 # &R A9 ger femeet W avly @i 3x2-3
Describe any three key features of India’s ‘National Water Poliey’, 2002,

18, 9T & 94 5997 @ 928 & 99 Fiag | Ix1=3

Deseribe three broad belts of minerals in India.

19, 49 fiy T 9nE & vF W w1 W Gl fme T osmEm @ s
TiA 2 2ms A B T veE & ae 3x1=3

(19.1) =0 TE T F vl AR 3he 99 i
(19.2) =g @43 wia & fog geg & figa & 7
(19.3) 30 947 % 0 olg aFrem & AT w1 AW TEET |
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Study the diagram showing the location of a major steel plant of
India, given below and answer the questions that follow :

Bilaspur
Balaghat .
74 ;
2 Mahaonadi River]

¥ Steel Plant
EEd Dolomite

- B Manganese
Iron Ore

Tandula B Coal

Tank 'Efg’ Tron
e T ailway

alli Kajahara Hills

(18.1) ldentify and name the steel plant.
(19.2]  In which state of India is this plant located ?

(19.31 Name the source of iron ore for this plant.

e fletfiET ¥ 3907 gfedtT whenda & B v wew 19 % e wo g
Note : The following question i for the Blind Candidates only, in lieu of
& No. 19

ofd T @ A e W a e F Ha F e i fam F 2w Sifm ) 3x1-3
Explain why are the iron and steel plants located near the source of
raw materiala in India
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20. 97 § = afEE 7 e T | 9 G dF w5 oo $ife

Explain any three problems faced by slum dwellers in India.

21. Har H geEml qeEneT & fEE o el # o emern fifag |

Explain any five features of nomadic herding in the world.

92. HORK # FEE UfEET & T T A S s & |

Explain the merits and demerils of road transport in the world,

23. OO ¥ FUETT =N F ST o smum ® wE ST |

Explain any five bases of international trade in the world.

e l=d

dnl=h

Awl=a

24, A F WUW T HEN F GG A @ D a0 § aiiea wifa | g=m At

5 o-51 TovmmeT %7 =E Sy |

14242=5

Classify the human setllements ol the world inlo two Lvpes, by their

-shape. Explain any two features of each tvpe.

25, “FoUEE =R ¥ g 1w T omey gfsr fraw # 17 5 owem oA e

FifaT |

“Alr transport plays an important role in the international trade.”

Support the statement.

26, (26.1) TOW & fo0 0 IEHGE FE-0EEE (U8 13 W) § fH=EEs =31 w5

femm e 2

A. e AR YEHE, 2003 § EER RN gEEE G 89
B. A= w0 W OF &

C. TUR-TEsRET o @ A I

N,  HAEfrm = 1= e wE T

i
4KE=3

T et F vEEH Fifay T IR @ & amA Wi T G| TS0 el

CILBG =
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(26.2) wrA % fam U UeAfas E-AmteE (TE 16 W) ¥ fefefas o e
ygw ol g feEmu & = 9w fafaa Ix1=3
(i) WA FHF €% g O
(ii)  wfEmn % fom o9 Ted SEe
(i) ¥ F TR FEE TR (2001)

(26.1) In the given political oulline map of the World (on page 13), the
following four teaturcs are shown .

A The country having the lowest rank in Tuman
Development Index in 2003

B. An arca of subsistence gathering,
C. Terminal station of Trans-Siberian Railway
D. A major sea-port of Australia

Identily these fealures and write their correct names on the hines
marked near each feature.

{26.2) In the given political outline map of India (on page 15), locate
and lahel the following with appropriate gymhbols :
(i) The state having the largest area
(ii)  The o1l refinery located in Haryana
(111) A metlropolitan city of Kerala (2001)

Az [T 3 Fae SR THanga & 5 Fi 6w 26 # we W
Note : The following gquestions are for the Blind Candidates onlv, in lieu
of . Nuv 26

(26.1) aF" BEd gasis, 2003 § =09 Yyed Gudis dwl 33 & AW gaE |
(26.2) TR-TRANTT T = O atee By S g 2

(26.3) R & T4 A £9%A 9 T8 F AN FGR0 |
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(26.4)

(26.5)

(26.1)

(26.2)

(26.3)

(26.4)

Ao % 39w W AW AAET SR O T w5 e g

2001 I ST % IER HE W OUEATRE TE SH-E 8 7 5x1=5

Name the country having the lowest rank in Human

Development Index in 2003.

Which i1s the eanstern terminal statiom of Trans-Siberian
Railway ?

Name the state of India having the largest area.
Name Lthe place where an oil refinery iz located in Haryana,

Which 1z the metropalitan caity of Kerala (2001) ?



™ 4§ 26.1 F oo

For question no. 26.1

=

iy, el

AV TV RREL W
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Falr B E



For question no. 26.2 ¥ T 262 & fw

Outline Map of India (Political)
A &1 TE- e (TeHfas)




